£3—K 15202009

F18EIRERFFRETRE
BE LB KE

JAAF

NAGANO

# B  FR27149A128(LX)~98138(H)
1B AT EARSESABER RIS
3—K 202060
FE REEEERAEER
% LHM-BEZER-BKREH=
RHM-HERER-KBEHR
WNET-BERER-KEHS
EAT-BERES KEHS

RiEm k&

TR ShI=EEH

A B B B Fo#ERl R OB |K A | Bk R kDER | B 0E
9/12 110mH R 15876 |3RAR #UKER | B iR 158077
9/12 100m ¥ 12f036 |EF HRE | % LHE 12F)36 KesA
9/13 5000m R 1447557098 | AR WK | 5B EARE 1443575089
gSroRarvTaiary
A B B % | X B | R B |BREms| B C|EE % | G
9A128(1) 10:00 Bn i 0.1 22.0 66. 0
11:00 Bn Bl 0.9 24.0 64.0
12:00 BEh ] 1.1 25.0 57.0
13:00 Bh GE 3.6 25.0 57.0
14:00 Bh GE 3.8 24.0 64.0
A B B 2| X | R B |B&Em/s| ZR °C|EBE % | FHESH
9A138(H) 10:00 £Y p i) 0.5 20.0 81.0
11:00 £Y it 1.1 22.0 70. 0
12:00 L 0.1 22.5 70.0
13:00 L 23.0 67.0
14:00 i3l 1.1 23.0 63. 0
15:00 Y BlA: 1.3 23.0 55. 0




REREE—ER
z F

(3151 202060 {EA#KRE

EE N ERE RIS
142 2 i 3fiL 44z 5 i 6 fi 714z 8 i
A/8 i _H Bk K& /AR it BRERFIE i BERFE i BERFE i BER FE i BERSFE i BER FE i BER FE i &
09/12 %+ ENELS IS BT IE AGoH ) 1354 >ob () 13.55[ALR &% (2) 13.67/58 &) 13.80[/INk = (1) ENELEXIN) T8 15D FERF (1) 14.25
100m LTHE EHHE LHTE LHTE LHTE EARE EARE INE
09/13 BE £01) 27.08|iE8 B (2) 27.13|HR #ESH (2) 21.15 £ »ge 1) 27.35 IMiR HERF (1) 27.97 54 ZE(1) 28.83 /K FHEL (1) 29.69 A £(1) 29.77
200m LHTE EHHE LHTE EHHE INGE iRt AFIEZEE AFIEZEE
09/12 BHF XA 59.59 &0 B (2) 1,00.46 2@ #ES (1) 1,03.18 @& & (1) 1,03.32 A #E (2) 1,04.48 £k ER (1) 1,04.57 /NFR $ERF (1) 1,05. 18 fiE 2(2) 1,05.38
400m 2R AfH AfH Lt H7AE Lt HFAE iR Ay LHXE
09/13 D EXRQ) 2,27.96 Ah A 2,28.08/RE (2 2,31.65 FEA AR (1) 2,32.22/&% EmE () 2,34 14T EHF Q) 23437808 ELF() 23451 RE &) 2,58.20
800m AfH LTHEARE LHXE +tH iR +tH LHER iR
09/12 A ox2h (0 5,18.25 T EMF(2) 5 25.38 ¥ x4<F(1) 52995
1500m THZERRE i) LHAX
09/12 -0.6 BHFf HMZE(2) 15.42|51 555 (1) 15. 64 EAth #HE (2) 16.28 2@ #EH (1) 17.33 n#h mARF (2) 17.41 38 BARE (1) 17.43 @A £/ () 17.77 2@ B=() 19.51
100mH LHXE L HFAE Lt HFA AfH +tH LTHEAR INEE AFIEFE
09/13 BEH XA Q2 1,04.22 &4 555(1) 1,05.99 4@ #SH (1) 1,06.77 H #HE (2) 1,08.36/3k/® BARZE (1) 1,09.79 ¥k {&HME(2) 1,13.51 &% HEmH () 1,15.94 ;8% & (1) 1,16.33
400mH 2R Lt H7AE ANHE Lt H7AE LTHEARE iR iR EATERE
09/13 Brh A 1292629
5000mW LTHERE
09/12 R Otz () 1.63|BRR FER(1) 1. 45 ARH (1) 1,40 lLEE ==(1) 1.40|[®RE % (2) 1.35| 898 W45 (1) 1.35 AW R&RF (1) 1.30
E =Bk B3R LTHESE EARE AFIEFEE EAFHRE @ iR
09/13 Eiﬂﬁﬂ?%(z )5.52(-0.8) |[ZE T &M 4a(2) 4.96(-0.4) L5 EEL(1) 4.80(-0.5) |XKE 31k (2) 4.78(-0.7) ;&K FHEA (14.77(-0.3) AITHEFIF (2) 4.64(-0.3) {EFRIEEREE(2) 4.62(-0.8) He T|(1)  4.54(+0.3)
iR Bk LTHERE B3R EARE AFIEFE EAFHRE FriRdt AFIEZE
09/13 :tE ?E*” () 9.23 #5K FH (1) 198 ETFT #5(2) 7.82 HHE #F(2) 6.57 &R KEBE() 5.90 BRIR (1) 5.60
R A% (4. 000kg) LTHE EHH RELER LTHE/E LTHE/E LTHE/E
09/12 BT ¥&EQ 30.08| & fEHL (1) 23.33 /85K FH (1) 20. 11/ @A #F (2 19.318& 5550 16. 65
8% 4% (1. 000kg) RELEH LHE A H LTHE/E FriRm
09/13 ®wAR FHA) 30.95/#MA £A M 30.89|ETF EX(©2 27.29| LB fEH(1) 24. 39 /pHk EFEE (D) 23.2002F &HHh 1) 21.81/B@A #F (2 19.20 FER KRE () 17.48
0 Y # (0. 600kg) EHHE Y RIHED LHER BFiRAE LtHEAR LTHEARE LTHEARE
09/12 LHTE 50. 96 & 4THE 51. 93| BFiRL 52.62| EA® THEAE 53. 83 | AL FIEZEE 54 4| EARES 54.56| £ 56.72
4x100mR BaE £71) WHE #ESHA) IR REE(Q2) T2 R EFR KEBEQ) AHE BEW) A FEF ) n#n BT (2)
iR #5(2) T2 hiaod 1) BEH A2 B HFIZFE Q) BT HH(2) Ek FEEA) Nk E () wEHA R )
B #HE(2) #mAR FHA) ER EBRE(2) i &Q) BRIR FR(1) B &) ARF (1) FiE Q)
aiE 5565 1) D ERQ) &% Bl ) Mg EaF(A) ®E BARE (1) R FEZ () 8 Fik©2) BT BE#HTF(2)
09/13 iRt 11,63 £AFA 4,13. 13| &+t@ 4,18.54 EAZAR 4,22.90| EA® 4,23. 19 A FI52EE 4,31.15
4x400mR &% Bl ) iR #5(2) T2 o) *IE BARE (1) BF HFIZEQ) Ek FEEA)
ER EBRE(2) BaE £71) WHE #ESHA) BT HH(2) miE &Q) B &)
thAt 2 (1) =g 5565 71) #mAR FH(A) EFR KBO) T2 fERM 1] 3-3Q))
BEH XA Q) A #HE () B EK(2) A Sx2h () Mg EaF(A) AH BE)
09/13 BT HHR(2 3400 ¥R {EEREE (2) 2931 1Ll ER() 2889 #HE =/ (1) 2812 mEHA BRI (1) 2756 LR =X=(1) 2738 5k® BARE (1) 2695 /Mik FKEE(2) 2320
tHEHR LTHEASR iR i"#,ﬂ Y +tH AFEFE LTHEAR iR




ZF

Fi&E 9H12H 11:00
R 9H12H 13:20
700m
BE % (KR) 12.03
KL% (GR) 12.36
FiE BBE%E 248 3B + 2 0 IERIEERE o: 24 LIEBEE
[ 18] BEiE +2.6 [ 248] BEiE +2.0
JE[ b-» | No. KE 4 B2 B /EE | JE -V | No. KE 4 FE4 B EE
1 2 153581 3656 &K 12.88 Q 1 5 1450 B HFEQ &R 12.36 Q
4y 933 LH 443 1)t FHAE RK&E44
2 7 1534/HR #E4 (2) =133 13.01 Q 2 3 1210 £ AiRH ) &K 12.99 Q
T 47 b LH YFY htf AFH
3 6 1300 /iR = (1) =k 13.39 Q 3 9 1536/m&\E &) =R 13.32 Q
Ay bt EARE Y34y +@AA\
4 47 1301 X8 HF&(Q2) R 13.51 g 4 71332 vk BERF() B 13.37 g
WM EARE vy 143 INGE
5 8 1289 ;%% & (1) =153 14.18 5 6 1392/ 1L FZ(1) R 13.79
ar by EATRE ™4 )r AFIEZEE
6 5 1390 FK FELD) B 14.24 6 8 1235 H#f ZE (1) ER 14.15
YIX FTE AFIEZEE Thhs 714 BFRAL
7 3 MM BRR EFR(1) &K 14.72 7 4 1302/t BFEF () B 14.34
493470 1 LTHESR 1% hta EARE
R
n;z -4.5
1§ [ v-y 45 B2 B IEE
1 7 1450 B+t ﬁ*l =R 12. 81
443 1)t FHAE
2 5 1210 £E AHHA) &K 13.54
YFY 0TS AFH
3 6 153531 5565 &K 13.55
4y 933 LH
4 47 1534/#R E#S(2) R 13.67
T 47 b LH
5 9 1536 @A &() ER 13.80
Y34y M LH
6 8 1300 /h#k = (1) =15 14.00
Ay bt EARE
7 3 1301 k58 %2 =15 14.15
WY M EARE
8 20 1332k BERF() B 14.25
an vy 142 INEE




ZF

Y EEEEEE 11300 |
200m
BE#H (KR) 24.72
K&H GR) 25.13
R B
[ 148] BEE -0.6 [ 248] BEE +0.2
JE b-»| No. KE £ RE4 iR mE JE b-»| No. KE £ RE4 iR mE
1 5/ 1270 B »AaH () Bk 21.35 1 3 1536/ mF &() =159 27.08
Y htA F=tol::] Y34y U LA
2 2| 1235/h#f ZE(1) =153 28.83 2 6| 1266E0 BEX(2) =153 27.13
Thhs 7144 BFRAL 7418 M AFH
3 47 1390 FKk FERL() (B 29.69 3 5/ 1534/ #iR #E& (2) =153 27.15
Y3IxT FTE AFIEZEE T 47 b LH
4 7 1302 A FEFA) B 30.28 4 4 1332 /Ih#k #EXRF () B 27.97
1% h1a EARE Ay 143 INGE
5 6| 1393/ F@ E=() =153 32.04 5 2| 1391 /@m4 &() =159 29.77
195 9t AFIEZEE 4th 4 AFIEZEE
3| 1303[4t/m BEa-F (1) IS5 7 1301 &8 F&k(2) =5
403 #ha EARE Ri5 WY M EARE Riz




3
A

{il= £

L HA

AT H

L HA

AN H

INGE

R

A FEPEE

HLTEEE

o Tok o Toh ok Toh Toh Tk Toh Tl 2
S3F 36 33 3 R W W 33 33 3 Ik

OO0 || AW N —

EARE

—_

A FEPEE

SN T NS R PR TN PR NS NN -

DN OO N DINNN
patAiai A A N Nt N b2 N2 A
Gl CTW N A — W N




ZF

ZB 9H128 ___[12:30 |
400m
B2 (KR) 55. 42
KL% (GR) 58.35
R
[ 1#8] [ 2#8]
JE b-»| No. KE £ RE4 iR mE JE b-»| No. KE £ RE4 iR mE
1 6 1332 Mk #ERTF (1) &K 1,05.18 1 5 1232 3E# %A (2 E 59.59
Yy 143 INEE ¥4 9% R4t
2] 5 1210 B pEH1) Bk 1,05.76 21 6 1266 &0 EKQ) = 1,00. 46
YF hs FoE ol DhFAT M Lol
3 7 1391 @t &() = 1,09.33 3 2 1271 @ EH() = 1,03.18
840 AFIELE W5 =R
&3 1236 KE =) =154 1,16.93 4§ 8§ 16@EmEED =5 1,03.32
M/ A R4t Y34y U LEHE
2 1300 Mk = (1) = 5 3 1537 @ #E(Q) =15 1,04. 48
vy bt EARE Ri5 Ath 191 LHEmA
4 1303 d/E BF ) =% 6 4 1234 &gk B () =15 1,04.57
£ #13 EARE RS #4319 BiR4L
77 MTEEEBEQ = 1,05.38
7 19 +tHA®E
BALL—X
JE6E No. E £ HERFR RE4 s d H*E IR
1 1232 3&# %A 2 B BRIt 59. 59 2 1
2 1266 & BERQ) =k ExA 1,00. 46 2 2
3 1271 #@ 5 3) = &dA 1,03.18 2 3
4 1536 @A &() B AR 1,03.32 2 4
5 1537 At #HE () B AR 1,04. 48 2 5
6 1234 %% =i () B BRI 1,04.57 2 6
7 1332 Ik ERF (1) B N 1,05.18 T 1
8 1441 RE BQ B8 EEA® 1,05. 38 2 1
9 1270 £E AHH ) B ARA 1,05.76 1 2
10 1391 @s &() Bk ATETE 1,09.33 13
11 1236 K% =3) B BRIt 1,16.93 1 4




ZF
800m

E= % KR) 2,05.78
KEH GR) 2,16.97
R
5 No. K 4 FiE# R/ BE
1 5 1266 & EK(2) =154 2,27.96
75FA" M AFH
2 4 1466 Hh Oz h (1) @& 2,28.08
41 ¥ 1vh LTHESRE
3 6 1447 BiE & (Q2) =154 2,31.65
47 19 rHAE
4 8 1426 WEHA WA () B 2,32.22
Zy/4) %1 +H
5 7 1234 /4EBE BB (1) =R 2,34.14
#1919 BFRAL
6 3 1425 T E#HF (2 =154 2,34.317
Y 39¥4 v1a LtH
7 2 1438|#miE EaF() =154 2,34.51
47 12 LTHE
8 9 1236 k% = (1) =15 2,58.20
ST BFRAL
1/ 1303 dtIR B+ (1) =R
403 #h3 EARE Ri5
XF
717500m
E= % KR) 4,22.18
KEH GR) 4,45.75
R
5 No. K 4 FiE# R/ WE
1 2 1466 At x> H () BR 5,18.25
41 ¥ 1vh LTHESRE
2 1 1425 T E#RF Q) =154 5,25.38
Y 39¥4 v1a LtH
3 4 1438 #piE E¥RF() =154 5,29.95
47 112 LTHE
3 1288/iIw =<5 (1) B
IEb #53 EATRE Ri5
XF
3000m
E= % KR) 9,11.58
KEH GR) 10, 16. 94
R
5 No. K 4 FiE# R/ HE
11 1288k =< (1) &K
IEb #53 EATRE Ri5

B3 9B 138 [12:40 |
B3 9R128 12:55 |
B3 9B 138 77035 |




ZF

700mH

B 5% KR) 14. 28
RKEH GR) 15.03
R
R&E -0.6
IE| b-v | No. E £ R4 Bix/BE
1 3| 1450 EFT BEFFEQ) B 15.42
443 1Yt AR
2 6/ 153b/EHE 55501 B 15. 64
8y 933 AT
3 4 1537 A4 #HE(2) =R 16. 28
41 19 AT
4 5/ 1271[#2@ E&H () IS5 17.33
8 ik =5 HE
5 2| 1424 EEF(2) B’ 17. 41
h/9 13 @A
6 7/ 1465 3R BAEE () B 17.43
T N5 TAh rTARZEAE
7 8| 1331|gHmE E=A() IS5 17.71
Zyh % INeE
8 9 1393|FH EX() =15 19.51
195" 9t HNFIEFEE
9 11 1235 % (1) IS5 21.06
Thh3 744 PR
ZF
400mH
B 5% KR) 58. 27
RKEH GR) 1,03.59
R
IE| L-v | No. E £ R4 Bix/BE
1 6| 1232+ %8 (2) IS5 1,04.22
¥h4 +y% PR
2 9 153h|@#E 555 (1) =R 1,05.99
8y 933 AT
3 8| 1271[#x@m E&H () IS5 1,06.77
8 ik =5 HE
4 5 1537 EF #HE(2) =R 1,08. 36
41 19 AT
5 7/ 1465 3kR BAEE (1) B 1,09.79
T N5 TAh TARZEAE
6 4 1233 Fk EEREE(Q2) &R 1,13.51
AIME #Yh BFiRAL
7 2| 1234|{k8E EfB ) IS5 1,15.94
#by 1y PR
8 11 1289)i%% & (1) IS5 1,16.33
a7¥ by EATRE
9 30 1393|FH B () =R 1,18.08
195 9t HNFIEFEE
ZF
5000mw
B 5% KR) 23,10.04
RKEH GR) 26, 06. 82
R
[ No. K 4 R4 R/ IHE
1 17 1466 @Hh x>h () & 29,26. 29
A0 Y 1vh TARZEAE

B3 9R128 {145 |
B3 9B 138 {1:30 |
B3 9B 138 74:00 |




ZF

4x7100mR

"= KR)
RE#H (GR)

RB

Y

mEA

47.82
49.14

No.

E %

&/ BE

-
1

8

+HA
I8 Zyan

1536
1534
1637
15635

BE £0)
Y34y U

HIR #H(2)
SOE VI T
B #HE Q2
4th 19y

= 5565 1)
4y 933

50. 96

A H
19435

1271
1270
1272
1266

WH FES 1)
Y bk

TE MgsH ()
Vrad i

B} FH ()
ARTF AUy
&l EK(2)
75FA" M

51.93

R
14044

1231
1232
1233
1234

IR REX(2)
IN Ay I3
BHF XA QD
4 %

ER EERE(2)
AIME #1h

&E BB (1)
#hy w1y

52. 62

LTHE
918" Eh YAy

1439
1450
1447
1438

TE )
YFY HY

B HHEQ2)
445 1Yt

BiE EQ2)
T4 19

g ¥rFA)
47 13

ERFEAR
9IN Y MEh

1463
1458
1464
1465

53.83

HE KE()
A7 7hY

BT HhHia(2)
Y8 Th
BRIR FExr()
4340 1
*E BHAE )
03 7Ah

53.83

AFIEZLEE
IaAY1vh” hhYy

1393
1390
1391
1392

&H Bx=()
198 9t

Ak FEA M)
YIXT T

B £01)
ah ¥

g Z=2=(1)
0 Ut

54.24

EARER
#hFa9tq

1302
1300
1304
1301

MR FERF D
1% 13

MR E (1)
vy ht
ABRF D)
VNS

XE HFKQ)
WM

54. 56

+H
91y

1424
1426
1427
1425

nfm EERF ()
79 113
FEFA BH ()
Zy/41) %1
BE D0
40 %

HWT E#®FQ2
¥ 39¥% 313

56. 72

EAFERE
94" 43993 9319

Ri5

9812

14:45 ]




ZF

4x400mR

BE# KR) 3,46.50
RE#H (GR) 4,06. 03

RB

Y

R4 No. K

®/HE

-
1

5

%
R 1234 {&f Em (1)
1Y %% #by 319
1233 {¥R 1EERME(2)
AIME H#¥h
1235 w4 (1)
Thh7 744
1232 E# XEA Q)
¥4 V%

4,11.63

LHFA 1534 HIR #H(2)
914 Zyan SOER VI
1536 A& &)
Y34y U
1535 &1 555 (1)
4y 933
1537 M #HE (2)
4th 19y

4,13.13

AFH 1270 £ haEsH )
1743%° YFY hTA
1271 #@ #H(1)
Y bk
1272 K FH (1)
ARTF AUy
1266 & EK(2)
79fA" M4

4,18.54

EHEAR 1465 IkJ7 BARZEF (1)
9IN Y MEh ™* 17 720
1458 =T Hhha(2)
Y4 Tha
1463 &HFE KE )
A/n3 ThY
1466 H L h (1)
Bt V' 1y

4,22.90

FHE 1450 H# HHZE(2)
918" Eh YAy 443 1Yt
1447 mE B Q)
T 19
1439 £RE TER ()
95 hYY
1438 #iiE FAF()
47 12

4,23.19

AFIEZLEE 1390 &K FE# (1)
Wavasn” iy YIXT T
1391 Hd £(1)
ath ¥4
1392 |Lfg £ (1)
¥E 0 Ut
1393 A@E BZE ()
198 9t

4,31.15

EARE
LVsEVIL]

Ri5

9813

15:00 |




xF [(REE 9A128 __ [10:00 |
el
EEBk
=7
BE=5 KR) 1.77
RE% (GR) 1.65
R B
IBHL St o - E % . 11{:235 11{:15((5) 125 1m30 1m35 1m40 1md5 | 1m50| 1mS5| m60| ses  puse
T 7 1321|EE uir0) = - - - - - - - X0 o0 163
07 tth BHiR X0 XXX :
2 5 1464 BRIR Z&() = - - - = 0 [0 X0 [xxx 1 45
4h3%° 0 1 LTHESRE ’
30 3] 1304 AfEM AEA) = - 0 0 0 0 [0 [xx 140
VIS EARE :
46 1392/ LR =X (1) = - - X0 0 0 [0 [Xxx 140
359 Ut HFIEFEE :
5 1] 1287 B@A Q) =15 0 0 0 0 0 [Xxx 1 35
N8 T EATRE ’
6 4] 1427 T W& () = - - 00 [XX0 [Xxx 1 35
¥ #% tm :
7 2] 1251 AR BR&F () = 0 (X0 10 0 [XXX 130
¥ U1 R :
xF B3 9B 138 71:00 |
ENEEk
=
BE=5 KR) 6. 06
RE% (GR) 5.55
R B
IBGz | i ton - K % B4 -1- -2- -3- -4- -b- -6- 8% wE
110/ 1450 BN HHZEQ) = 5.11 5.51 5.31 552 | 5.22 520 5.52
4L 1% r@A®E -1.2  -09  -0.9 -0.8 -1.4 -0.6 -0.8
2 9 B8 =T HhhQ) = X 4. 81 4.92 X 4.91 4.96 4.96
Y9 Thi tEEAE -1.3 | -1.0 -0.6 0.4 -0.4
30 11 1322 WsE =) = 454 | 474 | 442 | 480 | 4.78 - 4. 80
393 1Y) BHiR -0.9 0.9 | -1.1 -0.5 0.5 -0.5
48 1301 =B HKQ = 475 | 4.63 X 476 4.78 X 4.78
¥ M EARE 1.4 1.7 -0.4 -0.7 -0.7
5 7] 1390 @Kk FEFEA) = 4. 41 4. 31 4.66 | 4.77 X 4.57 4.77
YIx FT4 HFIEEEE -0.9 0.9  -1.3  -0.3 -0.7 -0.3
6/ 6 1286 BFIE (2) =15 4,36 4.60 | 4.58  4.45 | 4.64 | 4.54 4. 64
B4 1Uh EAFHBE -0.9 0.9  -1.3  -0.2  -0.3 0.6 -0.3
75 12334k EHREQ) = 4,25 | 450 | 4.43  4.35 | 4.62 X 4.62
AIME o R4t -0.9 | 0.9 | -1.2 | +0.6 | -0.8 -0.8
8 4 1391 mH &) = 4. 11 4,25 | 443 | 454 | 444 X 4.54
5th 4 AFIEFEE -1.2  -06 -0.8 | +0.3 -0.8 +0. 3
9 3] 1251 KA B&F () =i 405 4.25 | 4.07 4.25
7 1 R -1.1 -0.9 | -1.2 -0.9
100 2 1463 &E £E() = 3.97  4.04 | 4.05 4.05
/05 7hY tEEAE 1.1 -1.0 | -1.0 -1.0
M 1 12438 555(1) = 3.6  3.54 | 3.23 3.67
133 955 R -0.6 | -1.1 -1.3 -0.6




xZF 4 000/( B3 9B13H [11:00 |
AL 12 (4. 000kg)
BEH (KR) 13.65
REH (GR) 13. 65
RS
R M L2 735(”% RS T 8_14_0 9_20_3 8_38_2 9_42_3 g_i)_g 9_62_1 ;Ei =
R ) LR ' ' ' ' ' ' '
e
PR P o ;giﬁﬂ] . | . . . . .
AR TN 596 X  6.00 620 6.25 6.57 6.57
5 2 1483 ﬁ,\’f ?;UE(” fgﬂgﬁ - X 504 - 590 58 590
6 1] 1464 ﬁ%’% i“j‘[*(” fgﬂgﬁ X 557 472 560 435 512 560
33; , 000/( B3 98128 [12:45 |
#2172 (1. 000kg)
BEH (KR) 44. 69
REH (GR) 43,41
RS
lllﬁﬁ'% ;K&S 7“/1/:\;8—0 == ;'2;:; (2)% - FiiE4 30-10—5 —02— —03— 30—1:)—8 —05— —06— :f)ﬂ(f)i wE
2| 4 1439 ivé gg’g(” ;g?ﬂl 21. % X 0 0 0 23.33 23. 33
R ) LR ' ' '
3| 3 1212 ﬁ"; ﬁi”*(” o 1860 X X 2011 X 0 2011
42 MelEH ﬁi(” fgﬂgﬁ X X 193 0 X 0  19.31
of 1 1w D '5,);'95(” Eiﬁtﬁ 0 1665 0 0 0 X  16.65
32‘;‘ 0 500/( B3 9B13H [10:00 |
Y & (0. 600kg)
BEH (KR) 48.07
REH (GR) 44,88
RS
Wi B P E % _ mRA A= - 3 | 4 | 5 -6 | mg | @=E
ﬁ"; ﬁi”*(” g%m X 3047 0 3095 0 0  30.95
nEE B unn e
PR AL ;g%ﬂﬂ . . .
LR T o 0 243 0 0 0 0 | 2439
5 6 123 ;{‘\Fﬁﬁfﬁm f‘%ﬁ " 0 - 2227 0 0 2320 23.20
6 3 1458 E;j; %3\@(2) fgﬂgﬁ X 0 2188 0 0 0 218
o2 MelEH ﬁi(” fgﬂgﬁ 0 1920 0 0 0 0  19.20
8 4 1463 ﬁ,\’f ?;UE(” fgﬂgﬁ X 1350 0 0 X 17.48 17.48




%F
TR

B &3 KR) 4540
K&H GR) 4325
B Fon - E £ B % ERE =
1 1458 EF HhihQ) =k 3400
WY 7ht LHRER
2| 12331k {EERE () = 2931
AIME iR
3 1322 1LiE ER) =R 2889
95 1Y BHR
4 1331 %@ £A0) =i 2812
TR INGE
5 1426 BEETA &HF (1) =k 2756
zy/4) 1Y LH
6 1392 L& =Z=(1) = 2738
¥33 0 UF HFIEFEE
7 1465/3E BAESE (1) =k 2695
1+ 05 728 LHRASRE
8] 1231 /h#k FEE(Q) = 2320
Ay 313 iRt

98138

113:30 |




EREZF

(& 9F128 710:00 |
#1710 0mH
BE 14.28
K& 16.23
EE 0.5
IE L-»  No. E 4 mE4 B ME
1 2 1331 %@ £A() B 17.52
Zyh W INGE
2 5 58T HHhRQ B 17.55
WY Thh THAZSE
3 3 1465 3kE BAB() B 18.15
H 03 7ah LTHEAR
4 8 1322\ mEA) B 18.93
Y295 1Y #EHR
5 6 1426 BHA BA() B 19. 40
=y/4Y 1Y M
5 9 1233 @R EHBEQ B 19. 40
AIME #9h EFiR4L
77 1231 EREQ)  BR 20.48
WYY 43 EFiR4E
8 4 1392 WLk =) Bk 20.76
w0 UF AFELE
EBRXF (R 9R128 (1130 ]
+tEEEELE
=7
BE 1.77
K& 1.65
JBRL BB Fon - E % B 1m05 | Tm10] Tm15 Tm20  Tn25 | 1m30  Tm35 | 1m0 | Tmd3 R | mE
1 3 1392 (L ==(1) B - - T
"7*°°;j* . ;Lf%#ﬁg 0 0 0 X0 XXX 1.40
2 4 18 ET HrhQ B - -
RN N 0 0 0 XX0O XXX 1.35
3 5 1426 EHA SF (1) B _
A o 0 0 0 0 0 XXX 1.30
3 7 1322 L& EmE®M) ik
‘;;73; g o ﬁfiﬂ 0 0 0 0 0 0 XX 1.30
5 8 12331 HREE (2 B - -
;5& *gf; @ i%;{u: X0 0 X0 X0 |XXX 1.30
6 1 1331 %@ £A0 B - -
i o ,l\ig 0 0 X0 XXX 1.25
72 1465 3R BAEE (1 Bk - -
103 72 tAZ2AE 0 0 XX 1.20
8 6 1231 ik EREQ) =
WY T BiRdL 0 0 XKD XXX 115
0




EREZF

(& 9F128 [12:40 |
B 13.65
KL 13.65
JBRL EE o - ; %EE( )45 . g -1- | -2- | -3- | -4- | -5- | -6- 08 -
1 3 1331 %m@m £/ B
il . 'l\ig 6.38 | 7.39 | 6.94 7.39
20 7| 1426 BEA #HFI( B
S e S 6.54 | 6.36 | 6.59 6.59
3 5 1322 1L mELA) B
i g ) ﬁfﬁ 6.52 | 5.78 | 6.26 6.52
4 8 1458 =T HrR(Q =i
T3 T1h emnan 6.41 | 4.15 | 5.52 6. 41
5 1] 1392 1LpE =Z=(1) B
i ) ;Lf1%$ﬁg 6.12 | 6.25 | 6.15 6.25
6 2| 1465 %kE BAS (1 B
L emnan 512 | 5.89 | 6.17 6.17
7 4] 1233 ¥k {k&ER{E(2) =1
ZE;; i ‘o ﬁzﬁt 595  6.11 | 5.67 6. 11
8 6 1231 /v EHEEQ B
T Bt 562 X |5.19 5.62
EBRXF (R 9R126 ___[14.00 |
+#ZE200m
B 24.72
REH 25.92
BiE 5.1
JE -y | No. E 4 mE4 B HME
1 6 1458 ET HrHR(Q Bk 28.32
Y9 ThE FALAE
2] 2] 1233k EMEQ &k 28.40
AIME #8 R4
3 8 1465 Ik/R BARZEF (1) | 28.79
H 03 7ah LTHEAR
41 9 1331 wm =AN) B 29.12
Zyh INGE
5| 7 1392 |LpE =Z=(1) = 29.27
Y0 UF ATFIEEE
6 5 1426EHA A Bk 29.75
=y/4Y %1Y i
7 3 1322 L@ mR®M = 30.23
Y395 1Y BHR
8 4 1231/ RXEEQ) B 30. 36
Y I3 BiRAL




EREZF

(R 9R13H___[10.00 ]
+t#EENGBE
B
B 6.02
S 5. 55
IERL| S Fon - E % i T2 A= | 2= | 3 | 4 | 5 | -6 w5 EE
1 8 UBET k(@2 Bk 506 X 5.06 5. 06
b 7HE THAEAE 0.5 +0.1 0.5
2 3 1322 L mE0) Bk 453 465 X 4.65
395 1 BHR 0.7 | +0.1 +0. 1
3 1 146 EHA BHA) S 4.4 X 4.44 4.4
=y/4) %1 +/@ 0.8 1.0 +1.0
4 4 1233 fER EEREQ Bk 438 438 X 4.38
ASHE #0 iR 02 0.0 0.2
5 7 1392 LR E== (1) Bk 355  3.96 421 4.21
WRE D uF ATFELE 10 | +.1  +0.3 0.3
6 20 1231 /MK EFEE () =13 3.67 3.49 3.58 3.67
WY T3 TR 06 0.6 +05 0.6
76 1465 5%m BAB) Sk 305 330 298 3.39
15 7R TEEAE 0.9 0.1 +0.6 0.1
8 5 1331 %HE £A() Bk X X 2.70 2.70
Zyh W% INGE +0.8 +0.8
EBRXF (R 9R13E__ [12.00 ]
B 47.14
S 44,88
IERL| S Fon - . ;&( )% . i T2 ST - [ 3 | 4~ | - | 6 | mi | BE
1 7 1331 %@ 283 Bk
:"’;2— ; . ,l\i% 0 2803 0 28.03
2 1 1322 L% mEd Bk
WZ; 2 o g fiﬂ 0 248 0 24.89
3 2 1231 Ik EREQ Bk
WY T BiRdL 0 B30 23.39
4 4 UET HHR(Q) Bk
Hvh THA FERESE 2075 X | X 20.75
5 6 1465 & BAS (1) B
R o ns 1953 X | X 19.53
6 5 1392 LR == (1) Bk
Z?{EW v ;Lf%#ﬁg 1857 X | 0 18.57
78 12334 HREE 2 Bk
fx & . ﬁfjt 7.4 X 0 17. 44
8 3 1426 EHA BAI( B
i i 0 0 1356 13.56
EBRXF (R 9R13H__ [13.30 ]
+t#ZE800m
B 2,11.84
S 216,97
& No. E % FEE 6 E
1 3 1233 K EEREQ &k 2.33.43
ASHE # TR
2 4 18 ET HHRQ)  BR 2.35.83
8 ThA TERAR
3 2 146 BHA HF() B 2.37.59
=y/4) %1 +/@
48 1465 R BMAEE() B 2,37.64
H 03 7ah LTHEAR
5 7 1392 L B=() & 2,42.54
WRE D IF AFEEE
6 5 1381 HEEAN B 2,45, 60
Zyh W F INGE
79 1231 M EREQ)  BE 2,146. 68
Y 33 TR
8 6 132.L@ mR0) &K 2.49.70
93 1Y E#R




1-7° 0% F

B3 9R128 71:03 |
700m
=g 12.09
K& 12.40
R B
AE
JE b-»| No. KE £ RE4 iR mE
20 1304 AR WIA)  |BEK
ViSRS EARE Riz
7'7 VZ & B3 9A128 11300 |
el
=
& E Bk
R B
Bz | &E | o - K 4 g4 3m00 | 3m10 | 3m20| 3m30 FOER e
1 1 1300 /hk = (1) R
R E ; £ X0 (X0 XX0 XXX 3.20




	決勝記録一覧表
	100m
	200m
	400m
	800m_1500m_3000m
	100mH_400mH_5000mW
	4x100
	4x400
	Field
	七種
	七種_詳細
	ＯＰＥＮ
	
	印刷


